1 1 ALDEHYDES, KETONES AND
CARBOXYLIC ACIDS

PREVIOUS YEARS' QUESTIONS

Very Short Answer Type Questions [1 Mark]

1. CH,CHO is more reactive than CH,COCH, towards reaction with HCN. Why?
' [AI Chandigarh]

Ans. It is because CH, CHO 1s more polar and it has less steric hinderance than CH,COCH,.

2. Write the IUPAC name of the followmg compound: o [AI Chennal, Panchkula]
o .

|
CH,=CH—C—CH,

4 3 ol 1
Ans. CH,—CH—C—CH,
But-3-en-2-one _
3. p-Nitrobenzoic acid has lower pKa value than benzoic acid, why? [AI Chandigarh]
Ans. It is because —NO, group is electron withdrawing, therefore, p-nitrobenzoate ion is more
stable than benzoate ion, p-nitro benzoic acid is more acidic and has lower pKa.

4. Why is oxidation of CH,CHO easier than CH,;COCH;? [AI Chandigarh]
Ans. It is because CH3CHO are strong reducing agent than CH;COCH, and bond breaks easily
in CH,CHO.

Short Answer Type Questions [2 Marks]

5. Write structures of compounds A and B in each of the following reactions:
CH ,CH,

(i) KMnO, - KOH A H,0* B
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N—NH—CONH,  ? _ ~
é 0, , A »B £ AN [Deihi]

COOK . COOH
é KMnO,-KOH @ @
Ans. (i ;
0 Ethyl benzene Potassxum benzoate Benz?éc': acid

N—NH—C—NHZ

" H N—NH—C—NHZ
(it)

Cyclohexanol Cyclohexanone Cyclohexanone
semicarbazone

(B’

' 6 Wnte structures of main compounds A and B in each of the followmg reactions:

+ . . '} (
() CH,CH,CN —CHMeBrIH.0" |\ LA, | o ,
CH, 21 ‘
.. (i) CrO,/(CH,C0),0_ H,N—NH, , '
(@) O @ o > A > BTy 4 [Delbi]
‘ CH,MgBI/H,0 \ .
Ans. (i) CH3C1'12CN i CH3CH2—C_CH ﬁ) CH CH2CH—‘CH3
w B

CH,

' H—N—
. (i) CrOy/(CH,C0),0. H.N—N
(i) (i) H,0*/A = @ 4

Long Answer Type 11 Questions [3 Marks]
7. Write the structures of the main compounds ‘A’ and ‘B’ i
@ cucnon —TE_, o CHOWdYHOE o,
(®) cHcocH, —NO |, o b = - (CBSE

in each of the following reactions

) Fle
L o) { N LY At
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